—-1=x

e)

x—3
5—1'(x—3):x'(x—3); 5—x+3=x"-3x; 8—x=x"-3x
x—3 x—3
a=1
X =3x=8+x=0; x*-2x-8=0{b=-2
c=-8
x_—(—2)i\/(—2)2—4-1-(—8)_2i6_ Ty T
2.1 2 2-6
X, ="——=-2
2
Comprobacion,
x=4 — i—1=4; 4=4 Si
4-3
5 .
x=—2 - —1==-2; =2==-2 Si
Soluciones: x,=4 y x,=-2
- 7,9 (x+2)(x—2):(x_2)
x+2 x—2 (x+2)
mincem{x+2,x-2}=(x+2)(x-2) W:(x+2)
o
7(c=2)+2(x+2)(x-2) _ 9(x+2) C 7r— 144 2( —4)=9x+18
(x+2)(x—2) (x+2)(x—2)
7x—14+2x"—8=9x+18; 2x’+7x-22=9x+18; 2x +7x-22-9x-18=0
2+18
a=2 X, = =5
(=N + S (=V —4.D.(— 1
e e d0—0 g 2)%(=2) —4-2-( 40) _2+18 _ 4
2.2 4 2-18
c=-40 xZ:T:_4

Comprobacion :

542 5-2
x=—4; 7 +2= 9 : __3:__3 Si
—4+2 —4-2 2 2

Soluciones: x,=5 'y x,=—4
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Lunes, 25 de mayo
Ecuaciones con raices cuadradas.

2x —1
* o 2x -1
NP +5+1=2x -2x +1
4x° -2x
4x° —4dx +1
Nxl+5=2x-1, Qm3+5T=Qx—n% X +5=4x—4x+1;, 4x7—4x+1-x*-5=0
4+8
3% —dx—4=0; oo —aacn _axs [T 7
c=—4 23 6 xzzﬂ:__z
6 3
Comprobaci on :
x=2; N2°+5+41=2-2; 4=4 Si
R (—_2j+5+1:2.—_2; 10_=4
3 3 3 3 3
Solucion : x=2
Jx+2=x
x -2
* x =2
gl et
x° =2x
X’ —4x +4
a=1
\/;=x—2; (\/;)2=(x—2)2; x=x’—4x+4; xX*—4x+4-x=0; x*-5x+4=0{b=-5
c=4
5+3
xS 414 s+3 [MT T
o 21 T2\, 53,
2

Comprobaci on :
x=4; J4+2=4; 4=4 Si
x=1; J1+2=1; 3=1 No

Solucion : x=4
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Vx+I1-3=x-8
Vx+I=x—-8+3;, Jx+I1=x-5; (\/x+])2:(x—5)2; x+1=x"—10x+25

x -5
* x -5
—5x 425
x> =5x
¥ —10x +25
a=1 5
X —10x+25-x—-1=0; x*—1Ix+24=0{b=—-11 x:_“JDiJ“J[)_4“L24:
c=24 21
11+5
s [T, 78
RV 5
2
Comprobacion :
x=8; J8+1-3=8-8 0=0 Si
x=3 3+1-3=3-8 —-1=-5 No
Solucion: x=8
3Wx—1=2x-11
BVx—1f =@x—110; 9(x—1)=4x> —44x+121; 9x—9=4x* —4dx+ 121,
2x =11
*  2x =11
—22x +121
4x* —22x
4x> —44x +121
a=4 5
4x* —44x+121-9x+9=0; 4x*-53x+130=0{b=-53 =‘G§$i¢05$ —4:4150
c=130 24
53+27
s3x27 [T g 10
T8\ 53-27 13
8 4
Comprobacion :

x=10; 3NI10-1=2-10-11; 9=9 §i

13, [13 13 9
SRR 4 2 I

Solucion: x=10

16



P4g.100

6)

" 3-x 2(x-2)_, 7Qx-1)
2 3 9

min.cmi2,3,9}=18

93 -0 =12(x=2) _18:4-2-7CQx=D) 7 g 12y 424=72—28x+ 14 S5I—21x=84—28x

18 18
33
—2Ix+28x=84-51;, 7x=33; x:7
Solucion : ng

2x=3 3(x-1) 2G-x) 5 _
6 4 6 8

mincmi6,4,8}=24

42x=3)-18(x—=D-83-x)+15 _ 0

d) 0

E8x—12—-18x+18-24+8x+15=0;, —2x—-3=0

24 24°
—2x=3; xziz_—3
-2 2
Solucion : x=_—3
2

7ayc 9c



